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4. Numpy &

.7H~—9—

« Numpy= #}etdAES: 9 s 4] A A F ohaF vl & (multidimensional array) # 2] £ £
gk Python £+ 3| 7] %] o] T},

o 5\:]]_(31}1\1-% S} [ﬂ} a/\Eb‘:‘lO]q mXLarray EL{—H]/\J 7“;(]

£ AHEsheE AR
Numpy T 7] 2] & Al236d o §&2 o)1 A A AAS 333 5 9}
« A
* import numpy
« RO gy HsEE AN S

= numpy. &<
* import numpy as newname

« NumpyE &2 5] A 28 0] &2l newname 2. 2 AF-&-3tt} = newname. 3t ==
newname. ¥ =& 2] 3 A&ttt

« from numpy import *
o NumpyEEe°l = e AAE &

MLFLL & EHEA dA o o] 533 FA = ol BRE BE
o] =9glo] Tl M E uhE AFE-3Hh Numpy R E Q] A3 A vk AF8-8F ufj &= st Al of] A
Aol &7 & % QU

= T —



1. Numpy &

P iEER

* Python?] 2] A~ E
« A3t AxE
TS Hlo] Eﬁ% Q4 F 38R
e array =&~ A

LH;ﬂ-a”ay-EiﬂH}\Ez O]%}

>>> g=[1,2,3]
>>> b=[3,4,5]
>>> gx2

(1, 2, 3, 1, 2, 3]
>>> g+a

(1, 2, 3, 1, 2, 3]
>>> g+b

[1, 2, 3, 4, 5, 6]

« YT A H o HF Y & 4REFEFT
« Numpy 2|~ E
C Qe ThorEr O] g a el
C A A B F O] Arda b
>>> import array
>>> g=array.array('i',[1,2,3])
>>> g

array('i', [1, 2, 3])
>>> b=array.array('i',[3,4,5])
>>> gtb
array('i', [1, 2, 3, 3 4. 5])
>>> g= array array( [1,2,3 01)
Traceback (most recent call last):
File "<stdin>", line 1, in <module>
TypeError: integer argument expected, got float
>>> c=array.array('f',[3,4,5])

>>> ¢

array('f', [3.0, 4.0, 5.0])

>>> gtc

Traceback (most recent call last):
File "<stdin>", line 1, in <module>

TypeError: bad argument type for built-in operation

>>> import numpy as np

>>> g=np.array([1,2,3])

>>> p=np.array([3,4,5])

>>> Dxg

array([2, 4, 6])

>>> gta

array([2, 4, 6])

>>> c=np.array([3.0,4.0,5.0])
>>> gtc

array([4., 6., 8.])

>>> d=np.array([3.0,4,5.0])
>>>

array([3., 4., 5.])

>>> d=np.array([3.0,4,'a'])

>>>

array(['3.0"', '4', 'a'], dtype='<U32")

>>> g+

Traceback (most recent call last):
File "<stdin>", line 1, in <module>

TypeError: ufunc 'add' did not contain a loop with
signature matching types dtype('<U32') dtype('<U32")
dtype( '<U32")




4. Numpy B&< o] &3 Jd A4

b o]

« A27F4 0] 1Al a9t A 47} 10 7N
Q12 A5lo) ol bE W E L o4

e« array( )= B AEE numpyd] wjE = HEE
sh= ghpoltt

- arange( )= TR TRbell A L o 1h7
o] £2HE e = 5ot ¢k
numpy.arange(10)<= 0F-E] 97}%] 1 3+4 9]
SAE REE B0l

X

Zb= dAEE A E vk d ol

« 7 A0 QY A= Fo] ofd AT K
=2 A EY

« Numpy©ll Al 2l & S (axis)o| 21l F-= 11,
%9) /|5 rank#hal F-Eoh

« FZ o] A help(arange)

>>> import numpy as np
>>> a=np.array([0,1,2,3])

>>> a

array ([0, 1, 2, 3])
>>> b=np.arange(10).reshape(2,5) #2x99]<4

>>>b
array([[0, 1, 2, 3, 4],
[5, 6, 7, 8, 911
>>> b.shape #2214 be =
(2, 5)
>>> b.ndim #2319 < be] 24
2
>>> b.size #2198 4d bl L& &5
10
>>> bl1,2] #2219 < be] 92 F=-FS
7
>>>bl(1,2)] #2234 4d be] &= F=x-FE
7
>>> bl11[2] #2394 be] &= F=x

7




4. Numpy B&< o] &3 Jd A4

« Numpy 2] element-wise operation

* Numpy2] vl ef o st e A7) 2] o] AAt

* element-wise operator : +,-,*,/,sqrt
c ol E S0, vea 222 x3 384

A — 1 2 3 B- -1 3 5
3 2 5 1 4 2

1-1 243 345

3+1 2+4 5+2

AR l—(=1) 2—-3 3-5 2 —1 -2
3-1 2-4 5-2 2 -2 3

123]*[—135 [1*(—1) 2%3 3*5_[—;
=

A+B=

A*B=[325 142071 341254 54217 213
o= = 22 2 6
A*2:[325]*2=[6 410

>>> ag=np.array([1,2,3,3,2,5]).reshape(2,3)
>>> p=np.array([[-1,3,5],[1,4,2]])
>>> g
array([[1, 2, 3],
(3, 2, 5]])
>>> h
array([[-1, 3, 5],
[ 1, 4, 2]])
>>> gt+h
array([[0, 5, 8],
(4, 6, 7]])
>>> g-h
array([[ 2, -1, -2],
[ 2, -2, 3]])
>>> gxh
array([[-1, 6, 15],
[ 3, 8, 10]])
>>> a/b
array([[-1. 0.66666667, 0.6 ]
[ 3. 0.5 2.5 11)
>>> g2
array([[ 2, 4, 6],
[ 6, 4, 10]])
>>> grx2
array([[ 1, 4, 9],

[ 9, 4, 25]], dtype=int32)

>>> np.sqgrt(a)

array([[1. , 1.41421356, 1.73205081],
[1.73205081, 1.41421356, 2.23606798]1])

>>> np.sart(b)

_main__:1: RuntimeWarning: invalid value

encountered in sqrt

array([[ nan, 1.73205081, 2.23606798],
[1. , 2. , 1.4142135611)

>>>



4. Numpy B&< ©]-8-3 3 ¥ 34

A l 1 2 3 ] B_ l -1 3 5 ] >>> np.dot(a, b.transpose())
3 25 1 4 2 array([[20, 15],
" 1 2 3 -1 1 [28: 21]])
AB” = 3 4
(3 2 5 s >>> np.dot(a.T, b)
[ +23+43.5 11424432 array([[ 2, 15, 11],
3 (-1D+2:345.5 3.142.4+45-2 [ 0, 14, 14],
[ w] [ 2, 29, 25]1)
28 21 |
I >>>

Transpose() $45 A& e] Ax AL P 0|1

gl ] s
L-(-1)+3-1 1-3+43-4 1-5+43-2 dotO) &+ FE ] W& Axlste golth

= 2.(-1)+2-1 2-3+2.4 2.5+42.2 )
3.(~1)+5-1 3.345.4 3.545.2 a.transpose () tjAlo] a. Tetal & 5 At}

2 15 11
=0 14 14 |.

|2 20 25



4. Numpy BE-& o] 83 UA WA F1 A4t

e Th52 774 91241 4 3} = =38 A (confusion matrix)©] tF. UA(unweighted

|=R=SNek

accuracy)2} WA(weighted accuracy) = Numpy E 5= ©]-&38}o] AlxkslA},

>>> cm=np.array(

ang neu hap sad tot recall

e
ang 99 3 15 18 135 07333 ... [[99, 3, 15, 18],
neu 2 3 0 4 9 03333 ... [2, 3, 0, 4],
hap 14 8 7 7 36 0.1944 ... [14, 8, 7, 71,
sad 3 1 3 43 50  0.8600 . [3 1, 3, 43]])
t(_)t_ 118 15 25 72 230 S>> cmm=np.zeros((5,5))
precision 0.8390 0.2000 0.2800 0.5972 5303 v(\)/f\z:;) AP 55> el i1, :~1]=cn
06609  UA >>> cmm[ :=1,-1]=cm.sum(1)
0.5034 F1 >>> cmm[-1, :=1]=cm.sum(0)
>>> AR=(np.diag(cm)/cm.sum(1)) .mean()
>>> AP=(np.diag(cm)/cm.sum(0)) .mean()
>>> F1=2xAP*AR/( AP+AR)
>>> UA=np.diag(cm) .sum()/cm.sum()
import numpy as np >>> cmm([ :4, :4]=cm >>> WA=AR
>>> cm=np.array( S>> cmm >>> UA,WA,F1
[[99, 3, 15, 18], array([[99., 3., 15., 18., 0.], (0.66086, 0.53027, 0.50336)
[ 2, 3, 0, 4], [ 2., 3 0., 4., 0.1,
[14, 8, 7, 7], [14., 8., 7., 7., 0.], _
[3 1, 3 43]) [3.. 1.. 3. 4., 0.], =2 Gl el )
>>> cmm=np.zeros((5,5)) 0., 0., 0., 0., O. S
>>> cmm ’ >>> cmm% 14 4] cm.sum(1) = array([[ 99., 3., 15., 18., 135.1,
array([[0., 0., 0., 0., 0.1, >>> cmm [ 2., 3., 0., 4., 9.]
[0..0..0..0.. 0.1, array([[ 99., 3., 15., 18., 135.1, [14., 8., 7., 7., 36.],
[0..0. 0.0. 0.1, [ 2. 3. 0. 4. 9l [ 3., 1. 3., 4., %0.],
[0..0..0.. 0. 0.1, [14. 8. 7., 7. 3.1 [118., 15., 25., 72., 230.]1)
[0., 0., 0., 0., 0.1D) [ 3., 1., 3., 43., 50.],
[ 0., 0., 0., 0., 0.1D



5. Scipyele] B2 ¥

« 78}, IS}, Frohokol| A AR ¢ Q= vheFsE A7 A = A H o Sl
E=3F 2

* ST % (scipy.special)

« 213 =] 2] (scipy.signal)

« %] 2] (scipy.ndimage)

o 3F 2] of ¥ 3} (scipy.fftpack)

« & A 3}(scipy.optimize)

o 52 2 A - (scipy.integrate)

« & o = (scipy.linalg)

« 3] == (scipy.io)

« %= 7| (scipy.stats)

« 31552 3 (scipy.weave)

« S A8 8 <38 S(scipy.cluster)

« 3] 4~ 8 A (sparse matrices) (scipy.sparse)
« 1K Zk(scipy.interpolate)

« 7] E}(e.g. scipy.odr, scipy.maxentropy)

« ScipyCookbook (https://scipy-cookbook.readthedocs.io/)



5. scipy.linalg.eig(A) =38 9 3733 749 E

O 3 e} o
« B E O] A gt 1Y
A AL A E A (A) AI7E A4S AL ()7} B 00] obl e & Al HAL) )
Ef (v) 2 3t
Av=1v import numpy as np
from scipy import linalg as LA
AT Y Vi
3 A = np.array([[3,4],[4,31]1)
’ ' - w, v = LA.eig(A)
anl arm vn Vn
print('eigen values are ', w)
print('The first eigen vector is ', v[:,0], \
o Q’% 7‘%4 %9/] :L—’.‘(l‘jr' %l_jl]' :]_7_—(,—3'—-3.1]' Ejl% ‘?6‘]’\1} '\n and the correspoding eigen value is', w[0])
print('The second eigen vector is ', v[:,1], \
A= 34 ] '\n and the correspoding eigen value is', w[1])
4 3

. A=7, V=[ 0.70710678 0.70710678]
- 1=—1,V=[-0.70710678 0.70710678]"

eigen values are [ 7. -1.]
The first eigen vector is [ 0.70710678 0.70710678]

and the correspoding eigen value is 7.0
The second eigen vector is [-0.70710678 0.70710678]
and the correspoding eigen value is -1.0




5. scipy.linalg.inv() &€

T
LAY WD AGL FAA FEVHYE/L ot AP LAY AW 41 o]}
gt
AB=BA=E,B=A"1

34

°A=[43

], A1 =7

>>> import scipy.linalg as LA
>>> A=np.array([[1,2],[3,4]])
>>> A
array([[1, 2],
[3, 4]1)
>>> B=LA. inv(A)
>>> B
array([[-2. , 1. 1,
[ 1.5, -0.5]])
>>> np.dot(A,B)
array([[1.0000000e+00, 0.0000000e+00],
[8.8817842e-16, 1.0000000e+00]])
>>> np.dot(B,A)
array([[1.00000000e+00, 0.00000000e+00],

[1.11022302¢-16, 1.00000000e+00]1])
>>>



6. Matplotlib &

¢ M&tplOt“bl_; EﬂO] E1 ]\]Z‘l1_§j'oﬂ O]%ﬂ plt.plot(t,y) #plot t and y using default line style

o= # and color
. T ]ﬂ‘ plt.plot(t,y, 'bo")#plot t and y using blue circle marker
. plot() 32> : A% glolE gl =8 plt.plot(y) #plot y using t as index array 0..N-1
plot() & JolEl o] 18z =4 plt.plot(y,'r+ ) #ditto, but with red pulses

.« stem() : O] AL O] E] o] ) Z

plt.stem(n,y, linefmt="r-",markerfmt="'bo',basefmt="'k-")

e A& HHI AT TP = 18] 7] o
« A3kt =[0,2] €] #H -3kl A
y = x(t) =sin(2rlt) & 2 ZE 17
Al @
import matplotlib.pyplot as plt Lo- Example of pt.plot(t.x)
import numpy as np os
t=np. linspace(0,2,100) #2Z7t 100 samples %]
y=np.sin(2*np.pi*1*t) 0.5
plt.title('Example of plt.plot(t,x) ') 101, . . i i i i i i
pI t D | Ot( t ,y) 0.00 0.25 0.50 0.75 1.00 1.25 1.50 1.75 2.00
plt.grid()

plt.show()




5. Matplotlib &

[ ] = sin(2n1nTs) &

A oA

= x(t) = sin(2r1t) & 2P ZE AW E

import matplotlib.pyplot as plt
import numpy as np

def x(t) :
return np.sin(2*np.pi*1*t)

plt.subplot(211)

t=np.linspace(0,2,300) #2=7+} 300 samples 12 = &
y=x(t)

plt.title('Plot (t,y) example of y=x(t)=sin(2 pi 1 t) )
plt.plot(t,y)

plt.xlim([0,2])

plt.grid()

ae2|7| 2|s5tod

plt.subplot(212)

fs=10; Ts=1/fs  # fs=10 samples /1 sec
n=np.arange(0,2*fs) # max sample = 2=*fs, 2= 7+ 20sample
y=x(n*Ts)

plt.xticks(n)
plt.stem(n,y,linefmt="r-",markerfmt="bo',basefmt="k-")
plt.xlim([0,20])

plt.title('Stem(n,Y) example of y[n]=x(nTs)=sin(2 pi 1 nTs) )
plt.tight_layout()

plt.grid()

plt.show()
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